SUMMER MATH FOR STUDENTS ENTERING SEVENTH GRADE

Dear Parents and Guardians,

To help students retain math concepts and skills learned this school year, a summer math
packet has been created for your child. The packet contains practice that will review,
maintain, and reinforce the skills and concepts introduced, developed, or mastered during the
school year. Parent participation to review the student’s work is encouraged. Please initial
the bottom of each page that you review with your child. The summer math packet isto be
completed throughout the summer. Itis not meant to be completed before school is out this
year or just before school starts in the fall. Students will benefit from completing the packet a
bit at a time. Please have your child turn in the math packet to the homeroom teacher or
math teacher during the first full week of school in the fall.

Students should also visit MobyMax regularly throughout the summer to work on lessons that
support individual student learning. MobyMax will find and help resolve learning gaps with
adaptive differentiated instruction. This will help them to be MATHTASTIC!

Have a blessed, fun and safe summer!
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Tracking Sheet for Moby Max
Keep track of your daily/weekly Moby Max Math minutes in the calendar
windows below. The recommendation is 30 minutes per week.
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Use an open circle at 34
to show that 34 is not in
the solution set. Then
draw an arrow to the left
to show all the numbers
less than 34.

Use a closed circle at 100
to show that 100 isin the
solution set. Then draw an
arrow to the right to show
all the numbers greater
than 100.

Practice

Make a number line diagram for the inequality. Then find a number
that makes the inequality true.

1. n = 345 ' 2. z>40
- o
340 345 . 350 355 360 50 30 40 50 60

makes n = 345 true makes z > 40 true.

3. m<170 4, x =35
a < oy
P R TS SO A T ~+———f—t—1
140 150 160 170 180 190 81 32 33 34 35 36 37

makes m < 170 true. makes x = 35 true.

Discuss and Write
5. Why is x = 43 not in the solution set for the inequality x < 34?



Name

Practice

Make a number line diagram for the inequality. Then find a number
that makes the inequality true.

6. x =48 7. n> 52
~—— ~A
42 44 46 48 50 50 52 54 56 58
8. s = 169 9. t<73
> =
10. p > 25 1. y =17

Tell whether the number makes the inequality x = 27 true.
12. 16 13. 27 14. 32 15. 26

Problem Solving
Write an inequality to describe the situation. Then answer the question.

16. Ariel exercises for at least forty-five 17. Abe’s family wants to buy a house less
minutes each day. Could she have than 10 miles from his school. He currently
exercised for fifteen minutes less than lives 15 miles away from his school. Will
an hour on Tuesday? " his family consider a house &5 miles closer?

Critical Thinking

18. Graph the numbers that are solutions of both'x > 2 and
x < 6 on a number line. Describe the solution. Give an |
example of a humber that is a solution to both and an h
example of a number that is not.

€ For additional Practice, go to page 272 in this Workbook.
€ Then go to Lesson 4-4B, pages 217218 in this Workbook.

“Qrade 6. Lesson 4-4A":

Capyright © by William H. Sadller, Inc. All rights reserved.
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Name

Obijective: To write an inequality to represent a co
real-world situation

Practiée

Graph the inequality. Then explain which part of the solution set makes
sense for the given situation.

1. An elevator can safely carry at most 2. A contractor wan’gs to mix more than
750 pounds. What weights can the elevator 100 gallons of paint. What amounts of
safely carry? . paint might be mixed?

y =750 x > 100
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Discuss and Write
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3. A van can hold up to 6 passengers. Explain why the =
graph shows all possible numbers of passengers, even
though the inequality to represent the situation is x < 6.
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Name

. | e
Practice b
Write an inequality. Then graph the inequality on a separate
piece of paper. Explain which part of the solution set makes
sense for the given situation.

4. The gas tank in Mr. Rock’s car can hold 5. A submarine is 500 feet below the ocean
30 gallons. He is filling the tank. How many surface and 1000 feet above the ocean
gallons of gas might he pump into the tank? - floor. From that position, how many feet can

the submarine rise?

6. Martha is packing toys. Each box can hold 7 A theater can hold up to 500 people. What
20 toys. How many toys might she have are the possible numbers of people that
packed into the last box? could attend a performance at the theater?

Problem Solving
Solve. Use the strategy that works best for you. Justify your answer.
8. Andy has 5 boxes. Each box can hold no 9. Each shelf can hold 15 snow globes. How

more than 12 light bulbs. What might be - many snow globes might be displayed on
the total number of light bulbs that are in 5 shelves?
3 boxes?

10. Marty’s toy car can travel up to 88 meters  11. A restaurant can hold 75 people. Wilma

per hour. Jenny's toy car can travel up to hosts a party for her grandmother at the
76 meters per hour. If both cars are traveling restaurant. How many guests can she
side-by-side, how fast are they going? invite?

Copyright © by William H. Sadlier, Inc. All rights reserved.

Critical Thinking

12. A bus runs every quarter hour. Andrew says the time he has to wait is
represented by the inequality t < 15. What does t stand for? Is Andrew’s
inequality always true? Explain.

@ For additional Practice, go to page 273 in this Workbook.
€ Then go to Lesson 4-5, pages 130-131 in the Student Book.

2 N
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1| Wednesday
Thursday 35 | 50
Friday 30 | 60
Saturday 40 | 55
Sunday

Practice
Tell whether the question is statistical or not statistical and why.
1. How many email messages did you - 2. How long was a typical email message
receive yesterday? you received yesterday?

Discuss and Write

3. Consider these two questions:
a. How far is it from your home to your school?
b. How long does it take you to get to school in the morning?
Which one is a statistical question? Which one is not statistical?
Explain your reasoning.



Name

Practice , ,
Tell whether the question is statistical or not statistical and why.
4. Which brand of battery lasts longer? 5. How many classrooms are in your school?
6. How many siblings do students in your 7. Did a class get better at doing sit-ups after
class have on average? a week of practice?

Problem Solving
Solve. Use a strategy that works best for you. Show your work.

_ Miles Haley Jogs

Haley makes a table of the number of miles she jogs RS e S
each day. Then she makes a dot plot of the data. s =* oo .‘é%"a' 3

8. How many miles did Haley jog on Day 11? 1 3 9 3

2 10 10 2

3 3 11 7

8. Is the question in problem 8 a statistical question? 4 6 12 6

How do you know? 5 4 13 1

6 8 14 1

7 3 15 0

10. How many miles does Haley jog on an average day? 8 5 16 2

Justify your answer.
11. Is the question in problem 10 a statistical question?  , ° e e o e .
How do you know? ' A e e s s s e e e
01 2 3 4 5 6 7 8 9 10
Miles

12, What is the greatest number of miles that 13. On how many days did Haley jog farther
Haley jogged in any single day? On which than the mean number of miles?
day did she jog that number of miles?

Critical Thinking .
14. Noah says the question asked in problem 12 is not statistical because
the answer is a single value from one day. Do you agree? Why or why not?

A & For additional Practice, go to page 280 in this Workbook.
' @& Then go to Lesson 9-6B, pages 233-234 in this Workbook.

Copyright © by William H. Scdlier_. Inc. All rights reserved.
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Name

Objective: To use tables of equivalent ratios to solve problems

£53

Yk
Calo
- e

Practice
Use equivalent ratios.

1. There are 24 pencils in each box. Complete the table
to show the number of pencils in 1 to 5 boxes.

What is the ratio of boxes to pencils? Ratio

2.
3. How many boxes are there for 96 pencils? _______
4. How many pencils are needed fo fill 5 boxes?

Discuss and Write
5. How did you use equivalent ratios to complete the table?




Name

Practice
Use equivalent ratios.

6. Eighteen dollars is needed for every 2 tickets.
Complete the table to show the costs of the tickets.

it

Hadeh ..g\m,. R l‘t‘th\.t\..—n, St

$18
7. How many tickets can you get for $727? 4
' . 6 $54
8. What is the cost of 12 tickets?
$72
9. What is the cost of 1 ticket? 10 $90

12
10. What is the greatest number of tickets

you can get if you have $100?

11. How much will it cost for you and 6 frlends
to get tickets?

Problem Solving
The table shows Tommy’s reading rate. Complete the table.

12. Tommy reads 10 pages for Language Arts class and
8 pages for History class. How long will it take him?

13. Tommy reads 16 pages for Math class and 4 pages
for Science class. If he starts reading at 6:30 p.m. and 10
takes a 5-minute break, at what time will he finish?

42 12
49 14

14. What is the greatest number of full pages Tommy can
finish reading in 45 minutes?

Critical Thinking

15. Explain two ways you can use the table to find the
cost of 36 golf balls.

Copyright © by William H. Sadlier, Inc. All rights reserved.

& For additional Practice, go to page 283 in this Workbook.
€& Then go to Lesson 11-2B, pages 239-240 in this Workbook.

Lesson 11-2A"
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There are 8 girls for
every 12 boys.

"

There are 9 girls for
every 12 boys.

Practice ,
Compare the ratios using a table. Then identify which ratio is greater.
1. a)6:15 b)9:20 2. a)4t09 b) 5 to 12
6 12 4 8
15 9
9 18 5 10
20 12
3. a) & b) 9:20 4. a) 19 b) 14

Discuss and Write

5. For one of the tables in the exercises, describe
how to make a list of equivalent ratios. Explain why some
of the tables do not need to be completely filled with terms.



Name

Practice

Compare the ratios using a table. Then identify which ratio is greater.

6. a)3:8 b)5:12 7. a)7to 10 b) 1110 15
8. a)% b)-;% B a)—g— b)%

Problem Solving
Solve. Show your work and justify your answer.

10. Six cans of juice cost $2. Eight cans of the  11. A bag of 10 oranges costs $4. A bag
same juice cost $3. Each can is 8 ounces. - of 12 oranges costs $5. Which is the
Which is the better buy? better buy?

12. Jan can ride her bike 32 miles in 5 hours. ~ 13. Quinn can type 275 words in 5 minutes.

Hal can ride his bike 20 miles in 3 hours. Rita can type 675 words in 15 minutes.
. Who would finish a 25-mile bike race first? Who can type 5,000 words faster?

Explain Your Reasoning

14. Roe is comparing the ratios 3 : 4 and 4 : 5. Is this the same as comparing
the ratios 4 : 3 and 5 : 4?7 Use tables to justify your answer.

& For additional Practice, go to page 285 in this Workbook.

iGrade 6, Lesson11-3A"

& Then go to Lesson 11-4, pages 382-383 in the Student Book.

Copyright © by William H. Sadlier, Inc. All rights reserved.
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Name
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Chapter 3 -
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Practice
Add the areas to find the area of the figure. Show your work.

1.

101in.

Discuss and Write

2. Explain another way to find the area of
the figure in exercise 1.



Name

Practice

3. T

4m

4m 10 in.

12m

5. S—L | 6. ;[t
1

' | 8 ft
2m - ‘ 12 ft —
|

Problem Solving
Solve. Use a strategy that works best for you. Show your work.

7. Phil is spreading fertilizer over his entire 8. Cheryl is using wood to make the
garden, which has the shape shown. How shaded part of the design shown. How
many square feet must he cover? many square centimeters of wood does

she need?
F——o 151t ———] ' s
-
10 cm K
12 ft :

Copyright © by William H. Sadlier, Inc. All rights reserved.

Explain Your Reasoning

9. Is the area of the shaded part of the ﬁrst_
figure shown equal to the area of the second
figure shown? Tell how you found the answer.

@& For additional Practice, go to page 289 in this Workbook.
€ Then go to Lesson 13-12, pages 470-471 in the Student Book.




€ Performance Task | Name .

Spice Emporium

i

iy

Lena works at Spice Emporium, a store that sells
spices from all over the world. Today she is preparing
a mixture of spices for Turkish dishes. She uses

3.58 ounces of salt, 2.4 ounces of cumin, 1.25 ounces
of black pepper, 1.1 ounces of oregano, 0.74 ounce of
paprika, and 0.5 ounce of cayenne pepper.

A. Ms. McDonald wants to buy 9.25 ounces of the spice mix for her
Turkish recipes. How much spice mix will Lena have left?

Another customer wants to buy 6.5 ounces of thyme. The
canister of thyme has t ounces. Lena measures out the
customer’s order and puts the canister back. Later, she
replenishes the thyme in the canister with 10.75 ounces.

B. Write an expression for the amount of thyme in the
canister now. If the canister started with 8.1 ounces of
thyme, how much is in the canister now?

300 Performance Task 1

Copyright © by William H. Sadlier, Inc. All rights r_eseryed.



€ Performance Task | Name
Duplicating Spices

gﬁ Malik also works at Spice Emporium. His manager
asks him to put 1.35 ounces of salt, 0.8 ounce of / S
pepper, and 0.09 ounce of saffron in each of 100 bags. i e\l H_“.f "

DS
- :,1;3:‘?@5&@.0 gl

2

LB e
TEAC (TN AT M 15 M i

A. How much salt does Malik need? How much pepper?
How much saffron?

Malik is making 36 small packs of chili spices and 15 large
packs of chili spices. A small pack contains 2.35 ounces of
spices. A large pack contains 10.8 ounces of spices.

B. How many ounces of chili spices should Malik make?

The jar of oregano contains 9.6 ounces of this most popular
spice. Ms. Asher buys 3.75 ounces of the oregano. Then
Mr. King buys 0.6 as much oregano as Ms. Asher bought.

C. How much oregano is left in the jar?

Copyright © by William H. Sadlier, Inc. All rights reserved.
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€ Performance Task | Name
Separating Spices’

2

%

%ﬁg Lena mixed 12.5 ounces of basil, 8.42 ounces of
rosemary, 7.6 ounces of tarragon, and 20.25 ounces
of a black pepper and sea salt mixture. She wants to
Separate the mixture equally into 100 bags.

7~

A. Can Lena use bags that can hold 0.4 ounce of spices or bags that
can hold 0.5 ounce?

Spice Emporium received a shipment of 41.92 pounds of curry
powder. Lena stored half the curry powder in the basement.
Then she separated the other half equally into 4 boxes.

B. How much curry powder did Lena put in each box?

A jar contained p ounces of paprika. Malik separated
the paprika equally into packets. Each packet had
0.8 ounce of paprika.

C. Write an expression for the number of packets Malik filled
with paprika. If the jar contained 116.8 ounces of paprika,
how many packets did Malik prepare?

302 Performance Task 1

Copyright © by William H. Sadlier, Inc. All rights reserved.



& Performance Task | Name

The Business of Spices

mailing list started with 7 customers four months ago.
The number of customers has doubled each month.
Malik needs to mail a letter to the customers on the list.

A. Write and evaluate an expression for the number of copies
of the letter Malik will mail.

Today n customers each bought a 0.5-ounce packet of saffron.
Half that number of customers bought 3-ounce packets of saffron.

B. Suppose 12 customers bought 0.5-ounce packets of saffron.
Wirite an expression for the amount of saffron sold to these
customers. Then find how much saffron was sold in all.

Spice Emporium has a sale on cinnamon and nutmeg. Twenty-six customers
each bought a jar of cinnamon and a jar of nutmeg. Eight customers bought
only jars of cinnamon. Lena wrote an expression for the number of jars of
cinnamon sold (c), and the number of jars of nutmeg sold (n).

26(c +n) + (8 X ¢)

Copyright © by William H. Sadller, Inc. All rights reserved.

C. Simplify her expression.

Performance Task 1

303



€Performance Task | Name
A Typical Workday ‘

%ﬁ% Malik is mixing cayenne pepper, black pepper, and

garlic powder. He puts 0.8 ounce of cayenne pepper
and 0.7 ounce of black pepper in a bag. The bag can
hold up to 2.2 ounces of spices.

A. Write an inequality for the amount of garlic powder (9)
Malik can put in the bag. Can Malik put 0.8 ounce of garlic
powder in the bag? Explain your reasoning.

Lena filled some jars with curry powder. She put 1.6 ounces of curry powder
in each of the jars. She used a total of 20.8 ounces of curry powder.

B. Write and solve an equation for the number of jars Lena
filled with curry powder.

Malik stocked some packages of seé salt on a shelf. Customers purchased 25
of the packages. At the end of the day, there were 8 packages still on the shelf.

C. Write and solve an equation for the number of packages of
sea salt that Malik stocked on the shelf.

304  Performance Task 1
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